O Aliaxis




505

PP 2o

R 4“7y R 1/2" ny ,n"n 315 7y1 20 'aw 002 NINAIMA NIIBYNON 1NN *
((PFA) “m'ojn nTay yn7 *
,dxR 160x2” Tv 10 bar
,dxR 200x4” Tv 6 bar
,dXR 315x4” 1y 4 bar
PP nwy pmnni 112y #9n
NBR-n nn'ox nyao *
AlSI 430 nvon1 I Nyao ©

1127 NNWOKR) 101777 DXNNA YAX 19'¥] N T791n 0202 2/4/6 7w nanan -7y mapnin »
(w1197 NvoNn

D'NINI 0'A'™DY

(PP) ji'7v 77n
(PP) pmnn 77n
(yax "19'¥2 0 T79) 02

(yax 19'¥2 nT79) DN
(NBR) nn'ox nyao

- 3%, T N R

(nvoinn) AIT'Nn NYav

40



41

4¢

6 bar
6 bar
4 bar
4 bar
4 bar
4 bar

3¢

6 bar

6 bar
6 bar
6 bar
6 bar
4 bar
4 bar
4 bar
4 bar

2712

6 bar

ou

10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
6 bar
6 bar
4 bar
4 bar
4 bar
4 bar

17172

10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
6 bar
6 bar
4 bar
4 bar
4 bar
4 bar

17 1/4

10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
6 bar
6 bar
4 bar
4 bar
4 bar
4 bar

1

10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
10 bar

3/4*

10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
10 bar

10 bar

172"
10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
10 bar
10 bar

dXR
20
25
32
40
50
63
75
90
110
125
140
160
180
200
225
250
280
315

0'100 01Nl

yn"
nTIy
ISO 13460-7 nxnna 20° 7w 'onva



noSIpa Nind

150
120
120
100
100
60
50
50
50
75
75
75
70
70
50
50
60
60
60
50
45
45
45
40
40
40
35
35
35
25
25
25
25
25
25
20
30
30
30
30
30
20
20
20

TR

1S50520B00F
1S50525B00F
1S50525C00F
1S50532B00F
1S50532C00F
1S50532D00F
1S50540B00F
1S50540C00F
1S50540D00F
1S50550B00F
1S50550B00F
1S50550C00F
1S50563B00F
1S50563C00F
1S50563D00F
1S50563E00F
1S50563F00F
1S50575B00F
1850575C00F
1850575D00F
1S50575E00F
1S50575F00F
1850575G00F
1S50590B00F
1850590C00F
1S50590D00F
1S50590E00F
1S50590F00F
1S50590G00F
1S50511B0OOF
1850511CO0F
1850511D0OOF
1S50511E00F
1S50511F00F
1850511GOOF

1S50511HIOF
1850513C00F
1S50513D00F
1S50513E00F
1S50513F00F
1850513G00F
1S50515D00F
1S50515E00F
1S50515F00F

60

70

75

99
103
130
119
125
136
119
123
132
227
229
238
246
253
312
304
311
319
323
337
334
336
345
352
360
368
377
379
386
390
399
411
545
510
513
520
529
545
928
932
935

17
18.5
18.5
18.5
18.5
18.5
22.0
22.0
22.0
22.0
22.0
22.0
17.0
22.0
22.0
24.0
24.0
17.0
20.0
22.0
24.0
24.0
26.0
17.0
20.0
22.0
24.0
24.0
26.0
17.0
20.0
22.0
24.0
24.0
24.0
33.0
20.0
22.0
24.0
24.0
24.0
22.0
24.0
24.0

17.0
18.5
18.5
18.5
18.5
18.5
22.0
22.0
22.0
22.0
22.0
22.0
17.0
22.0
22.0
24.0
24.0
17.0
20.0
22.0
24.0
24.0
26.0
17.0
20.0
22.0
24.0
24.0
26.0
17.0
20.0
22.0
24.0
24.0
24.0
33.0
20.0
22.0
24.0
24.0
24.0
22.0
24.0
24.0

37.5
43.0
43.0
45.0
45.0
60.0
51.0
51.0
51.0
53.0
53.0
71.0
71.0
71.0
71.0
71.0
91.0
91.0
91.0
91.0
91.0
91.0
91.0
91.0
91.0
91.0
91.0
91.0
91.0
98.5
98.5
98.5
98.5
98.5
98.5
98.5
101.0
101.0
101.0
101.0
101.0
134.0
134.0
134.0

100
100
100
100
100
120
120
120
120
120
120
137
137
137
137
137
137
155
155
155
155
155
155
155
168
168
168
168
168
189
189
189

2 M6x35
2 M6x35
2 M6x35
2 M8x45
2 M8x45
2 M8x45
2 M8x45
2 M8x45
2 M8x45
2 M8x45
2 M8x45
2 M8x45
4 M8x50
4 M8x50
4 M8x50
4 M8x50
4 M8x50
4 M8x50
4 M8x50
4 M8x50
4 M8x50
4 M8x50
4 M8x50
4 M8x60
4 M8x60
4 M8x60
4 M8x60
4 M8x60
4 M8x60
4 M8x60
4 M8x60
4 M8x60
4 M8x60
4 M8x60
4 M8x60
4 M8x60
4 M8x60
4 M8x60
4 M8x60
4 M8x60
4 M8x60
6 M8x60
6 M8x60
6 M8x60

dxR

20 x 1/2”
25 x1/2"
25 x 3/4”
32 x1/2”
32 x 3/4”
32x1”
40 x 1/2”
40 x 3/4”
40x 1"
50 x 1/2”
50 x 3/4”
50 x 17
63 x 1/2”
63 x 3/4”
63 x 1"
63 x 17 1/4
63 x1"1/2
75 x1/2"
75 x 3/4”
75x 1"
75 x 1" 1/4
75 x 1712
75x2"
90 x 1/2”
90 x 3/4”
90 x 1"
90 x 17 1/4
90 x 17 1/2
90 x 2"
110x2”
110 x 3/4”
110 x 17
110 x 17 1/4
110 x 17 1/2
110x2”
110 x 3"
125 x 3/4”
125 x 1”
125 x 17 1/4
125 x 17 1/2
125x 27
140 x 17
140 x 17 1/4
140 x 17 1/2

42



43

NOo9IPa NiNd

20
20
20
16
16
16
16
16
15

[ee]

A DA D DB D OO OWWWWOoO NN SN SN NN SN NN ©O 0o 00 00 0 0 00 0

T

1850515G00F
1850515H00F
1850515100F
1850517CO0F
1S50517D00OF
1S50517E00F
1850517F00F
1850517GO0OF
1850517100F
1S50518E00
1850518F00
1850518G00
1850518100
1850518L00
1850521E00
1850521F00
1850521G00
1850521100
1850521L00
1850523E00
1850523F00
1850523G00
1850523100
1850523L00
1S50526E00
1850526F00
1850526G00
1850526100
1850526L00
1850528E00
1850528F00
1850528G00
1550528100
1850528L00
1S50533E00
1850533F00
1850533G00
1850533100
1850533L00

945

960
1010
1002
1005
1030
1043
1065
1150
2310
2330
2390
2470
2590
1970
1885
1910
2010
2130
2060
2080
2105
2230
2350
2530
2550
2580
2670
2790
4000
4020
4050
4130
4250
3055
3070
3100
3220
3350

24.0
24.0
33.0
22.0
22.0
24.0
24.0
28.5
36.0
24.0
24.0
24.0
33.0
42.0
24.0
24.0
24.0
33.0
42.0
24.0
24.0
24.0
33.0
42.0
24.0
24.0
24.0
33.0
42.0
24.0
24.0
24.0
33.0
42.0
24.0
24.0
24.0
33.0
42.0

24.0
24.0
33.0
22.0
22.0
24.0
24.0
28.5
36.0
24.0
24.0
24.0
33.0
42.0
24.0
24.0
24.0
33.0
42.0
24.0
24.0
24.0
33.0
42.0
24.0
24.0
24.0
33.0
42.0
24.0
24.0
24.0
33.0
42.0
24.0
24.0
24.0
33.0
42.0

134
134
134
137
137
137
137
137
137
171
171
171
171
171
171
171
171
171
171
173
173
173
173
173
181
181
181
181
181
190
190
190
190
190
190
190
190
190
190

189
189
189
213
213
213
213
213
213
265
265
265
265
265
265
265
265
265
265
280
280
280
280
280
313
313
313
313
313
385
385
385
385
385
385
385
385
385
385

6 M8x60

6 M8x60

6 M8x60

6 M8x60

6 M8x60

6 M8x60

6 M8x60

6 M8x60

6 M8x60
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80
6 M10x80

dxR

140 x 2"
140 x 2 1/2”
140 x 3”
160 x 3/4”
160 x 17
160 x 1”7 1/4
160 x 17 1/2
160 x 27
160 x 3"
180 x 1”7 1/4
180 x 1/2”
180 x 2"
180 x 3"
180 x 47
200 x 17 1/4
200 x 1" 1/2
200 x 27
200 x 3"
200 x 47
225 x 1" 1/4
225x 17 1/2
225x 2
“225x 3
225 x 47
250 x 17 1/4
250 x 17 1/2
250 x 2"
250 x 3"
250 x 47
280 x 17 1/4
280 x 17 1/2
280 x 27
280 x 3"
280 x 47
315x 17 1/4
315 x 1" 1/2
3156 x 2"
315 x 3"
315 x 4”



nnNnyn

44



45

nnNnyn




nnNnyn







VA

FSC

www.fsc.org

MISTO

Da fontl gestlta In
maniera responsabile

FSC® C109468

dIL NFLSASOETIHT

2 ED

Distributed in Israel by:

'V'AINTIDION ",
ALEXANDROVITZ

www.alexandrovitz.co.il

Alexandrovitz Engineering Plastics & Rubber
Kaman (2005) Ltd

n"ya (2005) 1"np- M MDTIN NP'LDIO Y'ANTIDIIN

Kibbutz Tzora 9980300

p.o.b 806 Beit Shemesh, Israel

T. +972-2-9999111 70

F. +972-2-9993420 .0po

wnw N 806 .7.n 9980300 nvx yiap
sales@alexandrovitz.co.il

O Aliaxis

FIP Formatura Iniezione Polimeri

Loc. Pian di Parata, 16015 Casella Genova Italy
+39 010 9621.1 ."0

+39 010 9621.209 ojo

info.fip@aliaxis.com

www.fipnet.com






